

## OFFICE OF THE EXECUTIVE ENGINEER EHV PROJECTS DIVISION-III, SOLAPUR

M.S.E.T.Co. Ltd, 132 kV, Navives S/Stn. Premises Old mill Compound, Solapur-413001

PHONE & FAX NO. (0217) 2320181/2320141

Date: 20/04/2023

E-Mail: ee6630@mahatransco.in eeconst3spl@gmail.com

No. EE/EHV/PD-III/Solapur/375

### Re-enquiry

Sub: - Re-Enquiry for the work of Electrification of EHV Projects Division-III, Solapur office.

Estimated Amount in Rs. - Rs. 1,97,627/-only. (Inclusive of All Taxes).

Date of Publication Enquiry: - From Dtd. 20.04.2023 To Dtd.26.04.2023.

Dear Sir,

MSETCL invites offline bids (Quotation) from registered contractors /agencies for above said work as per schedule 'A'. You are requested to quote your lowest rate for the same via submission of quotation to this office on or before Dtd. 26.04.2023.

#### **TERMS & CONDITIONS**

- 1. Offer should be submitted via Quotation to this office on OR before dtd. 26.04.2023.
- 2. Rate must be quoted including of all taxes & duties.
- 3. 5% security deposit will be required to be paid before affecting the work which will be retained till Guarantee period is over.
- 4. The rate quoted should be valid at least for three month from the date of opening of quotation.
- 5. The quotation not confirming to specifications as desired below are likely to be rejected.
- 6. Right to accept / reject any or all Quotations or part thereof reserved by the undersigned.
- 7. The interpretations of undersigned on any matter of decision given by him on any disputed point will be final and binding on contractor.
- 8. The documents of an offer shall be written legible and free from erasures, over writing or conversion of figures, corrections where unavoidable shall be made by crossing out, rewriting initialing and dating.
- 9. If the bidder has any doubt the meaning of any portion of the enquiry conditions/ specifications, he should get it clarified from the office of the undersigned before submission of the offer.
- 10. Contractors are permitted to be present at the time of opening of quotations.
- 11. Attested copies of following documents along with offer should be submitted.
  - a) Valid registration of firm under Bombay Shop Act and Establishment Act if available.
  - b) Valid GST Registration Certificate.
  - c) Income Tax Return of Last F. Y Saral form (FY-2021-22).
  - d) Valid Electrical Contractor License.
  - e) If available Work order along with Experience certificate for carrying out similar type of work shall be enclosed along with Quotation. However preference shall be given to experienced contractor.

Encl:- Schedule 'A'

Yours Faithfully.

Sd/-(Mrs. A.A. Dandavate) Executive Engineer EHV Proj. Div-III, Solapur

#### Copy to:-

- 1. Notice Board.
- 2. MSETCL Website/SRM Portal.

# MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD EHV PROJECTS DIVISION-III, SOLAPUR.

## Schedule 'A'

**Sub:** - E-Enquiry for the work of Electrification of EHV Projects Division-III, Solapur office.

SR. No.	Name of item	Qty	UNIT	Rate	Amount
1	Supplying and erecting mains with 3 x 2.5 sq.mm. F.R. L.S. copper PVC insulated wire laid in provided conduit / trunking / inside pole / Bus bars or any other places as per specification No. WG-MA/BW	450	Mtr.	93	41850
2	Point wiring for light / fan / bell in min 25mm casing – n – capping with 1.5 sq.mm. FR grade copper wires with modular type switch and required accessories as per specification No. WG-PW/SW	40	Point	552	22080
3	Wiring for plung on board with Switch socket with copper wiring, earthing as per specification No. WG-PW/SW		Point	116	17400
4	Point wiring for independent plug in min 20 mm PVC conduit with 1.5 sq.mm FR grade copper wires with modular type switch and socket and required accessories as per specification No. WG-PW/SW	6	Point	748	4488
5	Supplying and erecting PVC trunking (PVC casing-n-caping) of size 25mm with accessories on wall / ceiling as per specification No. WG-MA/CON, para no. 1.1.2 DSR I. No. 1-2-11 P. No. 14.	400	Mtr.	44	17600
6	Supplying and erecting tripal pole & neutral distribution board (TPNDB), SPMCB of 4 ways/phase (12 poles), with door, 1.2mm thickness, surface/flush mounted, IP 43 protection on iron/GI frame (horizontal bus bar type) as per specification no. SW-SWR/MCBDB	1	Nos	2356	2356
7	supplying, erecting & marking SPMCB 40A to 63A C-Series with rated short- circuit breaking capacity (Icn) 10KA in provided distribution board as per specification no. SW-SWR/MCB	7	Nos	369	2583
8	Providing earthing with Copper earth plate size 30 x 30 x 0.315cm complete with all maerial, testing & rescording the results as per soecification No. EA-EP	2	Nos	6486	12972
9	supplying & erecting PVC Surface modular switch box with double mounting plate 16/18 model complete duly erected.	1	Nos	408	408

10	Supplying & erecting PVC Surface modular switch box with double mounting plate 12 model complete duly erected.  Nos 343		343	7203	
11	supplying & erecting PVC surface modular switch box with double mounting plate for 2 module duly erected	Nos	128	256	
12	Supplying & erecting modular type blanking plate one module, duly erected on provided plate & box	10	Nos	21	210
13	Supplying & erecting modular type Bell- push 6A/10A duly erected on provided plate & box with wiring connection complete.	15	Nos	106	1590
14	Supplying & erecting 18W,230v integral type LED lamp suitable for B-22/E-27 base	30	Nos	389	11670
15	Supplying & errecting adoptor for lamp holder 230v A.C. supplay	60	Nos	33	1980
16	Supplying & erecting 14W, 230V integral type LED Lamp suitable for B-22 / E-27 base.	20	Each	309	6180
17	Supplying & erecting 10-12W, 230V integral type LED Lamp suitable for B-22 /E-27 base.	10	Each	230	2300
18	1-13-1 Dismantling the existing light, fan, bell, clock, independent plug point, wiring including circuit mains of all types along with accessories etc. complete as per specification No: WG-DM/PW		Point	7	1400
19	Supplying & erecting regular/ standared model celing fan of 1200mm sweep complete ercetd in position.	6	Each	1882. 71	11296.26
					165822
		CGST @ 9 % SGST @ 9 % Total Amount including Taxes			14924
					14924
					195670
		Labours Cess @ 1%			1957
			Gran	d Total	197627

\* Estimated Cost: Rs, 197627/-. (Rs. One Lakhs Ninety Seven Thousand Six Hundred Twenty Seven Only) Inclusive of all taxes.

#### Note:-

- 1) % Rate must be quoted including of all taxes.
- 2) If the percentage variation of estimated rates is more than (+) 5% detailed rate analysis should be submitted if so desired by the accepting authority.
- 3) if there is any discrepancy in figure and in words the rates quoted in words will be considered.

Sd/-(Mrs. A.A. Dandavate) Executive Engineer EHV Proj. Div-III, Solapur

This is to confirm that I have studied description of items in detail. I have visited the site made myself and conversant with the site & working conditions.

I am ready to execute the above prescribed work with.

1)	% Below	[In words] of the Estimated cost
2)	At par	[In words] of the Estimated cost
3)	. Above	[In words] of the Estimated cost
		Dated Signature of Contractor with seal Name: